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I. Determine if the statement is true or false, and justify your answer 

a) If the Composite Trapezoidal rule is used to compute 
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 with an error of at most 0.5x10-4 then the number of points should be used is 10.
(        )

b) The 3/8 Simpson rule applied to compute  
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gives results with no error term .






(        )
II.1) Use the following table to find f(0.7) using Newton forward divided difference
        with 3 points.
    2)  Find the approximation of f ’(1.0) using a five point formula. 
	x
	0.6
	0.8
	1.0
	1.2
	1.4



	f(x)
	4.9530
	6.0496
	7.3891
	9.0250
	11.0232



a) III.1) If the table given is for f(x)=ex+1 Use the composite Simpson Rule to find the integral with an error of at most 0.5x10-4 . First Find the number of points should be used.
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b) Derive the following approximating formula (by Taylor series) for f ’'(x) and show that the error term is of order O(h2)
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